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A-95. See below:

a. no solution

b.x=35

c. all real numbers

d.x=0

A-96. See below:

a.x=—

ko
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c. all real numbers

A-97.x=0
Left Expression | Right Expression Explanation
32— (2x—4) 3+3x¢2+1 |Starting expressions.
32+ (-20) + 4 3+3x2+1 |Flip tiles from “—” region to “+” region.
“2x+4 3+1 Remove 312 from both sides.
—2x 0 Remove 4 unit tiles from both sides.
x 0 Divide both sides by —2.

A-98. See below:

a.42
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A-99. Let x represent the width of the rectangle, 2x + 2(2x +3) =78, 27 cm and 12 cm

‘A-100. 20 Schnauzers




